A N K N
FEI= FEI= FEI= FEI= FEI=
F18 |2HOEN ERERORA « PLEEIR i?ggga@ﬁ%ﬁégﬁﬁ FREEE RER(14:00~)
EEA « BRREE BRI EDBSR DMIZ DT DR RO
TESE ESE ESE EH= THE
F2E |ERBRICOVTER)
BAHSOY R BI\VENES RORD
EH=E EHIE EHIE EHI=E EHE
38 TIREH DR
BRSOV R DMH= W= w D50
J1R (1 4 185) J1R (I8 7 185) IR (HCU - 1£518%) IR (L618 ) IR (L 518)
F4B | DAERREOMS NTRE (ME) 13:30~14: 00 FRIFEFIZE
RDBO | EBEFERICDNT TDMIZDINT NST « TPNO#BESR RORD
AR (I 418) e EEE) IR (HCU « 41 518%) 51 (IL618) AL 518)
£5:8 FRIEHE
NST ROED
J1R (1E 4 185) J1R (16 7 18.) IR (HCU - 1£518%) IR (L618 ) IR (L 518)
F68 HDRZ (ME) 9 : 00~ FRIFEHIZE
SREVET P OB (RBY EEZS1400~1500 NST RDED
IR (b 4185) IR (16 7 18) HIR(HCU - 16 518%) 1R (LG8 =) IR (L 518)
ETB FRIEHE
REET PSIY R W= v D50 RDED
1R (1b 4 185) J1R (16 7 18.5) IR (HCU - 1£518%) J1R (1b618) IR (L 518
ESSE] FRIFEHIE
BEET PSSO R ICT « ASTOM5 ROBD
IR (b 4185) IR (16 7 18) HIR(HCU - 16 518%) 1R (LG8 =) IR (L 518)
Eae| FRIESE
ICT - AST RDEBD
J51R (1b 4 185) J1R (16 7 18.5) IR (HCU - 14 518%) 1R (Jh618=) RIR (L 518)
£108 FRIFREIZE
FiiR% 1 10 : 00~ ICT + AST RO
TRV TRV TURV%ERE Ty TLEV#ElE
£118 [UNEUR 11 1 30~ MREHERL 1 14 1 OO~ BER 1 14:00~ HER
=T v D50 RDED




